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QUESTION [1IT-JEE 1980] > (Home Challenge-01) Fz"@*yﬁ)a/;

:Q(‘*y)

[f x >y > 0, then show that the expression (\/7 (Zx + /x2 — yZ) (\1

be simplified to \/(x + y)3 — /(x — y)3.
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QUESTION )

(A:D B<T)

Given 3x% + x = 1, then the value of 6x3 - x2 - 3x is equal to

(KTK 3)

Ans. D



QUESTION ) (KTK 7)

vV26-15v3

Show that the square of is a rational number.
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QUESTION )
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QUESTION )

Solve: x“

+

(x-1)(x-3
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QUESTION )

Solve: (x-1)(x?+4x+1)(x+2)<0
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QUESTION )

~~Cs

Solve: (x2-x-6) (x2+6x)=>0



QUESTION >

Solve: x2-5x+6>0andx?-10x+24<(



QUESTION )

xz—x—620

X% 4+ 6x



QUESTION )

Solve: (x2+3x+1) (x2+3x-3)2>5
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QUESTION )

Find Exhaustive set of values of x satisfying :
(i) x3-3x2-x+3>07 xz(X-3) -1 (x-3)70
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QUESTION )
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Case of Repeated I'-‘actoLs) .
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B, : Every odd integral power of a linear factor is treated as 1.
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B, : In case of even power of any factor, first we assume that it is always positive. So we
delete it from the inequality but in the end we make a direct check at that value of
x where the deleted factor is zero. *
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QUESTION )

Nobe facter
Solve: (x+1)(x-3)(x-2)220
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QUESTION )

Nobe facter

Solve: (x+1)(x-3)(x-2)220
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QUESTION )

2
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QUESTION )

x3(2x—-3)%(x—4)° -

(x—3)%(3x—-8)
AR veody

Number of positive integral solution of

P’oefen't'

2 cssrble
2 <o , x=3 ,4a=pbepo
3x-8 x=3 is NP
\Nu-t- I AN weY
+ 3 — \ -'-
‘ 1
0 €l

Xe o, e,3>u i‘ll |

hrieg®y A = Q.13 Y

Vo), ueg q—a
No: “’%\Y‘W'NQ\)Q&&QS:\\: N urnkey b{“““h(%cd'\w\ \“R%YQQ
Na: o—% PQS\'{\VQ\Y\J@M \\sz% Nalues



QUESTION >

Solve: (x-1)?(x+1)3(x-4)<0
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QUESTION )

(x-1)?(x+1)3 0 -

Solve: e



QUESTION )

Find the exhaustive solutions set of
(2x — 5)190(x 4 3)(2x + 1)101
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QUESTION >
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QUESTION >
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Solve for x: (x_4)(x—3) (X-S)

> ()

(x-3)* (xN(x-2) >0 , x+3
(x-y) (x-9)

X=1) (x=2) 5 o , %43
(X-Y) (x —%)

A
\

xe = \U L) (s, %) - §1
\y' &
RE |\ \213)v (3n\\§\) (§, ®)



QUESTION )

X*=7x+6 = (X"')(X"G)
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QUESTION )
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Solve: (x—1)(x—-5)3(x2-7x+12)



QUESTION )
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Find the exhaustive solutions set of ()8l 9) - (xi4) > ().

(x2-25)(x+3)21(x%2+10)>

Ans. (—,—5) U (—4,-3) U (2,3) U (3,4) U (5, )






QUESTION )

2—3X < 9

Solve the system of in equations —5 <
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QUESTION )

7—X "'@\j
Solve the system of in equations 2x—1 > x + —— 2,XER
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QUESTION )

Solve following double inequalities : /
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(ii) x?4+2<3x<2x?-5
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Solution to Previous TAH



QUESTION )

The square root 5 + 2vV6 is -

@ V3 +2
V-2
ORZRE

@) V3+Vv2



d

“The SO\JUCLM‘ voot of

-
1










QUESTION [1IT-JEE 1980] )

12
The expression is equal to
: 3+V5+2v2
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QUESTION )

Evaluate the following
(i) (-9, 3)N[-2, ) (ii) (-4,1]n(-3,4) (iii) (0,5] N (1, =)
(iv) [0,3)u (2, 6) (v) [2,0)u (4, ») (vi) [-1,1)uU |2, 5]
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QUESTION )

2x — 3 2x — 3 X—3
i | > 1
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QUESTION )

Solve: x(7 - x) (2 -x) (x-5) <0
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QUESTION [1IT-JEE1980] ) (Home Challenge-01)

If x >y > 0, then show that the expression (\/7 (2x + /x2 — yz) (\J X — /X2 — yz)) can

be simplified to \/(x + y)3 — /(x — y)3.
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Solution to Previous KTKs



QUESTION ) (KTK 1) @

If a and b are rational numbers and a +bv2 = 5(+/2 — 3) + V8 then find value of
a‘’ +b% =

Ans. 274
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QUESTION ) (KTK 2)

If value of (x e -)1: — 5) then find value of:

. 3 4 L . 1 TR
(i) x h = (ii) x = (iii)) x =
: 4 1 3 1
(iv) x*—-= v) x*+3

Ans. (i) 23, (ii) +V21, (iii) 527, (iv) +115+/21, (v) 110









QUESTION )

Given 3x? + x = 1, then the value of 6x3 - x? - 3x is equal to

(KTK 3)

Ans. D
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QUESTION )

If V/OX = W,thenxz

CHCRONC

(KTK 4)

Ans. B









QUESTION ) (KTK 5)

VX3 x Vx5
- X A x77 =
T
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QUESTION ) (KTK 6)

—
9t x32x(3~%) =(27)" N3
e where m and n are natural numbers, then find the value

s

of (m-n)is

Ans. 1
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QUESTION ) (KTK 7)

J25=153

Show that the square of is a rational number.
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QUESTION ) (KTK 8)

(5x-1)°
P 1S

If 510X = 4900, 2VY = 25 then the value of
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